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There is an important irrational number called e. which
occurs in advanced mathematics, statistics, probability,
and many other situations involving growth.
e=2.718281828459...

Logarithms base ¢ are called natural logarithms and are
written as: In x.

In the past we used to look up natural logarithms in a table
much the same way we used a table to find logs base 10 (or
common logs). Below you will see a portion of a

table of natural logs.

Natural Logarithms (In x)
~ [ 000 | 001 | 002 | 005 | 004 | oos | 006 | oor | oos | oos
10 | 0.0000 [ 00100 | 0.0198 | 0.0296 | 0.0392 | 00488 | 00583 | 0.0677 | 00770 [ 00862
11 [ 00953 [ 01044 [ 0.1133 1310 [ 01398 [ 0.1484 | 0.1570 | 01655 | 0.1740
12 | 01823 | 01506 | 01989 2151 | 02231 | 02311 2469 | 02546
13 | 02624 | 02700 | 02776 02927 | 0.3001 | 03075 21 | 03293
1.4 | 03365 [ 0.3436 | 0.3507 0.3646 | 0.3716 | 0.3784 | 0.3853 | 0.3920 | 0.3988%

Often, the number we are looking for will not be found on the table and we will
have to perform calculations known as interpolation.

We will use our scientific calculators to find natural logs.
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Let's use our calculators to calculate some natural logs and
their inverses.

€D w324 = 1.656>
B,

4% \no.000271 = —G6.6E32

——

S \n 1,234 = 7, 11go
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